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QUESTION 1

Suppose that a new Process class has been created in a model and a build generated command is performed. What
needs to be done next?

A. Implement the methods in the generated impl version of the class.

B. Copy the generated impl class from the build/svr/gen/temp folder into the impl package.
C. Create a new class in the impl package.

D. Implement the modeled methods in the base class.

Correct Answer: C

QUESTION 2

What are three effects of running a build clean server command? [Select 3]
A. All database tables are dropped and rebuilt

B. All generated artifacts are deleted

C. All code table files are recompiled

D. All application navigation files are checked and loaded

E. All client pages that have changed since the last build are regenerated
F. All generated and handcrafted code is compiled

Correct Answer:. BCF

QUESTION 3

If a model contains a process class MyProcess, which two of the following class signatures are correct? [Select 2]
A. curam.impl.MyProcess implements curam.intf. MyProcess

B. curam.impl.MyProcess implements curam.base.MyProcess

C. curam.impl.MyProcess extends curam.base.MyProcess

D. curam.base.MyProcess extends curam.intf. MyProcess

E. curam.base.MyProcess implements curam.intf.MyProcess

Correct Answer: CE
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QUESTION 4

Consider the following hand-crafted SQL statement (written for an entity operation) and the relevant modeled
information presented: Which of the following statements are valid?

8 Stiing Value X

Erter the strirg value;

SELECT A attnbute2 A attribute3 A attibuted ;I
INTO :attribute] : attribute2.: attributed
FROM TheEntity & EntityOne B
WHERE & attribute1=E. attribute1 AND
&, attribute] = attributel AND
B.attnbute2=: attnbute2;

0K Cancel |
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) Manage Operation Parameters

Manage Operation Parameters
This wizard allows to manage operation parameters and return type

_,__,ﬂhf',g:}ﬁwﬂ_m,_ T ey
Eg gdefaulty atinbutel : SAMPLE_DOMAIN
==} gdefaults atinbute? : SAMPLE_DOMAIN
= sdefaults atributed : SAMPLE_DOMAIN

5, #defaults attributeT ; SAMPLE_DOMAIN
Eg #defaults attribute? : SAM PLE_DOMAIN
| [ edefaults athibuted S&MPLE_DOMAIN

A. A build generated will fail with the error message \\'Error 20500 - incorrect SQL syntax defined for nonstandard

operation on [Entity].[Operation]\\'.

B. It will only be possible to test whether the syntax is well-formed by running the SQL.
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successfully, but the entity operation may throw an exception at runtime.

D. The use of Host variables \\:attribute1\\' and \\:attribute2\\' as both argument and return variables will cause a

compilation error in the server application.

Correct Answer: BC

QUESTION 5

Examine the following piece of code:

package serverworkshop. impl;
import servervorkshop. struct . #*:
import curam. util exception. *;

public abstract class HaintainFer=on
extends serverwvorkshop. intf MaintainFerson {

public void insertPerzon({MaintainPerzonlDetails dtls) throws AppException, In

FPerzonltls personltls = new PerzonDtls();

serverworkshop. intf Person personlb; = serverworkshop. fact PersonFactory. ne

rersonltls. concernBEolell = dtls. concernEolelD;

personltls. firstName = dtls. firstHamne:
perzonlDtl=s. lastHame = dtls. lastHames;
personltls title = dtls . title:
personltls . gender = dtls.gender;
perszonltls datelfBirth = dtls . datelfBirth;

per=onlb]  insert (pers=onltls=s);

Which of the following statements about this piece of code is true?

A. It does not compile because an import statement is missing

B. It does not compile because the PersonDtls object must be obtained from a factory class

C. It does not compile because the MaintainPerson should not extend the class serverworkshop.intf.MaintainPerson

D. It compiles without errors

Correct Answer: C
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